DiscDogGrandPrixSeries2025DistanceSmallDogRANKING

JERL K4 K& RiE &&tP [EIE= [A] [B] [C] [(7>€7]
1Kk & T4 T s ACS 1111 21 617 213 230 51
28R Bt NI PPON 980.5| 24 498.5 162 290 30
3= BT NI 4 — WC 886| 16 515 184 136 51
AR —%R& T TCT 840| 12 583 149 78 30
o] picc== =3l TV WC 702.5( 14 423.5 162 105 12
6|2H MH=E 23 WC 691.5( 19 359.5 112 190 30
73kEB EF i) TCT 659| 12 441 127 78 13
8|IkO E SR ) WC 637 21 277 79 230 51
o= EF T4 = WC 618.5( 14 346.5 136 105 31

10(BFHF & COSMO SSD 598| 11 418 114 66

11|f0H = Z ALK IG 591| 12 417 96 78

12(B8H BE L7 WC 562.5| 13 344.5 91 91 36
13[%% %A HE KHD 559 9 409 90 45 15
14|57 A= R—K— MIX 552 14 336 79 105 32
15|FBR Z*F® ey - JRT 533 9 325 100 45 63
EI= S Feel SSD 489.5( 12 310.5 75 78 26
17\%3% 3%5E Socken SSD 484| 10 331 70 55 28
18|FB = FAT=v% FB 442| 20 168 51 210 13
19|28 R1T Feel SSD 433 11 289 78 66 0
20| BAIBB = JULIANNE SSD 431.5 7 328.5 75 28

21| Rk #B7F ALFA PPON 429 18 195 60 171 3
22|l & 7R TP 406 17 179 64 153 10
23|MR  fR— GADZILLA BT 355.5| 12 211.5 66 78

24|g7H &ML I KHD 304 6 196 87 21 0
25BE VO &H (P2 SSD 290 13 148 51 91

26| AR & ALISON SSD 262 7 161 37 28 36
27|t EH HAT BT 239.5 5 148.5 17 15 59
28|EAH BE = WC 226| 12 104 30 78 14
29|l HER Spanky ECS 172 3 113 53 6

301iEH E&Y IR WC 166.5 9 82.5 33 45 6
31|1FL A ESRANVN CS 121 4 93 18 10

32|85 =N 1F JRT 100 2 84 13 3

33|1Fl PSR bHah CS 86 2 60 23 3

34| BLED LOBIN JRT 76 1 59 16 1

35|#HE ETF 2L PRT 73 2 47 23 3

6|2 1= NEE WC 68 5 34 19 15

S BER Clutch JRT 64 8 11 13 36 4
37|H b= ¥ — IG 64 2 50 11 3

IR EKF EKOLU JRT 52 1 42 9 1

IPEE Kz Bruno IG 52 1 44 7 1

A1|FEE  EaL T MS 51| 3 39 6 0
42|84 &EE i ECS 46 2 30 13 3

43|88 BF & WC 44 2 32 3

4315 FE TEE ANN SSD 44 4 26 10

4518 FB— ROSSI JRT 43 1 35 7 1

RN ES LUCK KHD 41 1 32 8 1

AT|HEA B A xHb WC 40 3 22 12 6

48| R¥F FhA ELUA PRT 39 1 34 4 1

A9|IEAR  BAl L7/ IG 37 1 23 13 1

50|28 Rt YR JRT 34 3 19 9 6

SllfERE HBOA 74— SSD 29 1 22 6 1

52|FHA Xk TEN WC 25 1 13 11 1

B3Rt BstE Tudho MIX 24 2 18 3 3

Y APNITE=V chicory JRT 23| 2 14 6 3

o[ H  ERF kaloo WC 22| 1 16 5 1

b6|it EAF XA JRT 20 1 14 5 1

57|%p & (LA ACS 19 1 16 2 1

58|l STEH zY TP 15 1 9 5 1

RO|RE iR Z7= KHD 11 1 6 4 1

60[BR =7 RF JRT 8 8
6l{fH R kaloo WC 3] 1 0 2 1

613EH EA ra— JRT 3 1 0 2 1

61|7% HE nEE JRT 3 1 0 2 1

64|HEE E ANN SSD 2 1 0 1 1

65|/t BUT LUKE PMD 0

65|FR B YA KHD 0




